SHEGEE BEEER A ARTYME—ILASRY,
REBRER P ES

2%
¥

R

ERRFMRE RS

# A HHM6F4A190(£)-208 (1)-21H(R)
% A REEBISAFE(190) RESFFHK(208.218)
<BFOH>  (BmMoK) <KFOHB>  (Bm6HK)
1EE y—J%
20 - 14 41 - 1
28 - 19 39 - 12
W 92 { 2 } 50 %3 WA 154 { o s } 29 LES
22 - 15 36 - 8
37 - 0
gEEE— 123 { o2 } 21 ER¥E
25 - 12
2[E 5
18 - 11 48 - 7
25 - 13 36 - 6
A 87 { % - 10} 49 B BB 146 { PO } 30 PN
18 - 15 34 - 10
22 - 15 31 - 0
18 - 14 — 19 - 7 22
B 87 { . 14} 54 B SHEE— 106 { I } 21 ER¥E
20 - 11 20 - 11
22 - 18 20 - 14
#mE— 8 { " fj} AN Es WA 66 { " 274} 61 ER
19 - 17 16 - 16
16 - 19 24 - 17
S 78{ 2 -1 } 60 EETE #wEE— 718 ¢ 2 - B L 1 mEms
- 17 - 17 13 - 24 -
19 - 17 21 - 17
IR
15 - 14
16 - 11
B 64{ 23_12}46 i
10 - 9
5-6BLRER
25 - 13 15 - 15
gmH— 65 { o fg} 64 HmH= ERER 67 ) 0 | 65 Wk
16 - 24 16 - 22
1 - 9
SHLREE SHLRER
17 - 15 16 - 11
w78 { - } 0 SEHE_ B 65 { 2 ‘87} 45  GEE=
28 - 19 19 - 9
R B R B
25 - 13 13 - 20
24 - 26 . . 13 - 18
B 80 { T 23} 78 SmE S 79 { B 10} A WRAE
18 - 16 20 - 28
LRS- LR
fragees };E%#%%#& fragees I
B AL i Bl EHE B TR
Eof BHE—BS TR ofi WL BB
E3f A Eaf N £ 20




